This is worth 10%-of vour final test grade. Submit on the day of the test.

Section:

Unit 3 Pre-Test

1. For each equation, determine whether it is finear,”

i Is the équation lingar?
on
e Yes No

y=x+9 X o

L
4 ;
y= =2 L «
y=4 c X
2 o K

y=x 47

/

2 For each equation, determine whether it is linear.

3. The equation of a line is given below.

XA
ki bx-0=0b
Find the x-intercept and the y-intercept. I
Then use them to graph the line. \D X= w0
x |
A
v | 1] |
|

&

——

A fs the equation linear?
o Yes No
4x= -9 X o
2
y-—=0 [ ] x
x
005 ~ 09y = 3.3 2]

! 9y -84 5y=x-13

>
o
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5. Graph the line x

1

XU

4. The equation of a fine is given below.
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Find the x-intercept and the y-intercept.
X-intercept:
y-intercept:

Then use them to graph the line.
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9. Find the slope of the line graphed below. l

7. Find the y-intercept and the x-intercept of the line below.

, I I r:f ('a’ - / o
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; ol I &2
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8. Find the y-intercept and x-intercept of the line. 10. Find the slope of the line passing through the points (6, —7)and (2, —4).

LU Ye-Y . _
i = === & i}
- | Y -
y-intercept: k@ X* 2 Yl
x-intercept: 2

- o 22w | U D@
A g N o
2w 0=l 20)-Y=0 74
2x =l -U=0
E- R f%’_ ~
2

Y =0

=2
X:‘
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11. Fill in the blanks below.

Find the slope of the line passing through the points (—4, 6) and (=9, 6). —_— = i) O

slope: [Z) ‘ ——q 'lj— 1/{ | _.%

Find the slope of the line passing through the points (—2, —3) and (6, —3). —A 4 + % _ O
= ez 220

12. After crossing a bridge, Juan drives at a constant speed. The graph below shows the distance (in milés)
versus the time since he crossed the bridge (in hours). .

Use the graph to answer the questions.

y

40,

/

Distance (miles) 2o

Time (hours)

{a) What is the slope of the line?
{b) How much does the distance increass for each hour since Juan crossed the bridge?

miles
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13. Each day, Greg eams a fxed wage plus xém manay for overy hour of overtima ha works. Tha graph shows
his fatal pay (in doitars) versus tho amou! of overtima (i hours) that he works.

W,

L onand - TN I N I
mul 12 e s L SN DU, m——

SES

. B

E

Ovarird (hinrg)

(2) Wnat is Greg's total pay with () hours of avertima?

s 100

(b) Choosa the stalement that best descrbes how the amaount of ovorime and fotal pay ane relaiod. Then filin
gnn blank.

€ As the amount of overlina increases; the
fctal pay decroases

At what ratn 5 the tofal pay decroasing?
$ per hour

#Az the amount of overtine increazes, tha
{ctal pay ncreases.

A2 what rato k the tolal pay iInocasing?

v 7D parrne
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16. For each equation, determing whether it shows a direct variation {that is, shows directly proportional

14. Graph the line.
variables).

y=4x

AR

1t it does, find the constant of variation and write it in simplest form.

W T
N ? : et e— CONT havel “extya \Weer
% y j . ~ Direct variation
Q\ GS\I\%Q} q)\g\s RN / - - Conglant of variation: k=[]

/ X Not direct variation

HAC wenee WYY | g2
] Direct variation = 1
/ Constant of variation: k= Q_

¢ Not direct variation

15. Suppose that y varies directly with X, and y=9 whenx=18.

(a) Write a direct variation equation that relates x and .

Equation: \5__’_ ]/; %
(b) Find y when x=5.

y="9[2

Qt‘m 9 u=ElDd

A L
o
M= /a -
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Arithmetic Sequence Formula:

a,=a,+(n-1)d

19. Find the 71% term of the following arithmetic sequence.

12\;:%% 28, 36, ... .
O =2+ (70-1)%

17. The ’:ﬁ;} three terms of an arithmetic sequence are as follows. l 2 b q Cg)
19,28, 37 (G 2 wt EJLQ
Find the next two terms of thi ¥, l
20. Find the 16M term of the arithmetic sequence whose ¢t dift is d =6 and whose first term is

“1=1'

18. For each sequence, determine whether it appears to be arithmetic.

fi it does, find the common difference.
© Arithmetic C\I(g: 1-4_ (“0’])(0

2, ~10, 50, =250, ... Cemmon difierence: a=]

0oz 4+ (19)(0)

¢ Arthmetic

i 2 d=
12,15, 19, 23, .. Common ditference U @ 3 q 11-
X Not arithmetic W

Arithmetic
-9, —16, —23, =130, ... Common diffarance: d= ﬂ—
¢ Not arithmetic
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